Times Tables Tests
Term 3
Questions and Answers







Instructions

Read the oral questions twice, allowing 10 seconds between
each question.

The children then answer the written questions. A time of 10
minutes is suggested for completing the remainder of the test. This
allows about 20 seconds per questions and 2 minutes for each of
the worded questions.
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Times Tables Test 27

Oral questions

1. 2x5=10 2. 2x2=4 3. 40:5=8 4. 14:2=7

Calculate:

5. 59x5=25 11. 80+10=8
6. 0x5=0 12. 45:5=9
7. 12x10=120 13. 12:2=6
8. 9x2=18 14, 4:2=2
9. 10x2=20 15. 50+ 10=5
10. 3x5=15 16. 55+5=11

Complete these calculations

17. 7x10=70 18. 16+2=8

19. A pack of pencils contains 5 pencils. How many pencils in 9
packs?

9 x5=45
20. Apizzais cutinto 10 slices. How many pizzas are needed for
50 slices?

50+10=35
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Times Tables Test 28

Oral questions
1. 7x5=35 2. 9x2=18 3. 30:5=6 4. 10:10=1

Calculate:

5. 3x10=30 11. 30-5=6
6. 7x2=14 12. 20:5=4
7. 9x10=90 13. 16+2=8
8. 1x2=2 14, 55+5=11
9. 2x5=10 15. 24:2=12
10. 5x5=25 16. 30+10=3

Complete these calculations

17. 5x5=25 18. 22+:2=11

19. A teacher wants her children in groups of 5. She has 40
children altogether. How many groups will she have?

40:5=8

20. A pack of stickers costs 10p. How much do 3 packs of stickers
cost?
3x10p=30p
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Times Tables Test 29

Oral questions

1. 8x2=16 2. 5x10=15 3. 20:2=10 4. 8:2=4

Calculate:

5. 9x5=45 11. 90+ 10=90
6. 7x5=35 12. 6:2=3

7. 3x10=30 13. 100+ 10=10
8. 8x2=16 14, 5+5=1

9. 0x5=0 15. 6:2=3

10. 2x10=20 16. 55+5=11

Complete these calculations

17. 8x2=16 18. 50+5=10
19. Bus tickets cost £2 each. How much will 11 bus tickets cost?
11 x£2=£22

20. Apples are sold in packs of 5. How many packs will there be if
there are 35 apples altogether?

35:5=7
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Times Tables Test 30

Oral questions

1. 3x10=30 2. 5x2=10

Calculate:

5. 6x10=60
6. 8x5=40
7. 5x10=50
8. 7x5=35
9. 4x10=40
10. 9x2=18

Complete these calculations

17. 3x10=230

3. 45+5=9

11.
12.
13.
14.
15.
16.

20+ 10=2
10-5=2
10+10=1
30:5=6
16+2=8
35+5=7

18. 20+5=4

4. 70:10=7

19. There is space for 5 people in a taxi. How many cars will be

needed to take 40 people?
40:5=8

20. There are 10 swimmers in each race and there are 7 races.
How many swimmers are there altogether?

7x10=70
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Times Tables Test 31

Oral questions
1. 4x2=8 2. 0x10=0 3. 80:10=8 4. 55:5=11

Calculate:

5. 8x2=16 1. 6:2=3

6. 9x5=45 12. 30:10=3
7. 7x2=14 13. 27+5=5
8. 8x10=80 14. 20+ 10=2
9. 4x5=20 15. 10+5=2
10. 9x10=90 16. 98+2=9

Complete these calculations

17. 9x5=45 18. 110+10=11

19. Each classroom has 2 teaching assistants. There are
9 classrooms. How many teaching assistants are there
altogether?

9x2=18

20. 5 mixing pots for paint are shared equally among 20 children.
How many children share one?
20:5=4
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Times Tables Test 32

Oral questions

1. 8x2=16 3. 80+10=8
2. 11x5=55 4. 50+5=10
Calculate:

5. 7x2=14 11. 24:2=12
6. 6x5=30 12. 40-10=4
7. 4x10=40 13. 50+ 10=5
8. 7x5=35 14. 18+2=9
9. 3x2=6 15. 35+5=7
10. 4x10=40 16. 16+2=8

Complete these calculations

17. 8x10=80 18. 5+5=1

19. Tim finds 22 socks in drawer. How many pairs of socks can be
made form 22 socks?

22:2=11

20. A loaf of bread can be cut into 5 slices. How many slices can
you get from 6 loaves of bread?
6x5=30
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Times Tables Test 33

Oral questions

1.

.9%x2=18 2. 4x5=20 3. 25:5=5 4. 4:2=2

Calculate:

5. 7x2=14 11. 10+10=1
6. 8x5=40 12. 30:5=6
7. 9x2=18 13. 4:2=2
8. 4x2=8 14. 30+5=6
9. 4x5=20 15. 14:2=7
10. 8x10=80 16. 20+ 10=10

Complete these calculations

17.

19.

20.

6x2=12 18. 30+5=6

In a football competition, 10 players each score 2 goals each.
How many goals were there altogether?

10x2=20

5 pizzas are ordered to feed 15 children. How many equal
slices must each pizza be cut into?

15+5=3
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Times Tables Test 34

Oral questions

1. 0x5=0 2. 6x2=12 3. 30:10=3 4. 40:5=8

Calculate:

5. 9x10=90 11. 20+2=10
6. 3x2=6 12. 40-10=4
7. 2x10=20 13. 25+5=5
8. 4x2=8 14, 55+5=11
9. 6x5=30 15. 24:2=12
10. 10x5=50 16. 30+10=3

Complete these calculations

17. 6x2=12 18. 15+5=3

19. A teacher shares 45 colouring pens into 5 equal piles. How
many are in each pile?

45:5=9

20. 10 teams take part in a sports day. There are 6 children in each
team. How many children are there altogether?
10x6=60

© 2018 twinkl.com 11



Times Tables Test 35

Oral questions
. 1x2=2 2. 6x10=60 3. 2:2=1 4. 90:10=9

Calculate:

5. 7x5=35 11. 20:2=10
6. 9x2=18 12. 14:2=7
7. 9x5=45 13. 60+10=6
8. 6x2=12 14, 5+5=1
9. 0x10=0 15. 22+2=11
10. 3x10=30 16. 70+ 10=7

Complete these calculations

17. 8x2=16 18. 60+10=6

19. 4 cakes are cut into 5 pieces. How many pieces of cake are
there?

4x5=20

20. A piece of string measure 20cm. It is cut into 5 equal lengths.
How long is each length?

20+5=4cm

12 Times Tables Tests



Times Tables Test 36

Oral questions
1. 6x5=30 2. 2x2=4 3. 5+5=1 4. 35:5=7

Calculate:

5. 9x2=18 11. 15+5=3

6. 7x2=14 12. 10+ 10=1
7. 6x10=60 13. 55+5=11
8. 5x5=25 14, 2+:2=1

9. 8x2=16 15. 120+ 10=12
10. 9x10=90 16. 22+2=11

Complete these calculations

17. 2x5=10 18. 40:5=8

19. 5 friends by a present for their teacher. They share the cost
equally. The present costs £25. How much did they each pay?

£25+:5=£5

20. Each class has 10 sets of guided reading books. There are 6
classes. How many sets of guided reading books are there?
6x10=60
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Times Tables Test 37

Oral questions
1. 2x10=20 2. 5x5=25 3. 15+:5=3 4. 8:2=4

Calculate:

5. 0x10=0 11. 30-5=6
6. 7x5=35 12. 4:2=2
7. 8x2=16 13. 5+5=1
8. 9x2=38 14. 60+5=12
9. 10x5=50 15. 2+2=1
10. 7x10=70 16. 90+-10=9

Complete these calculations

17. 8x2=16 18. 60+10=6

19. A farmer has 5 fields. There are 8 trees in each of his fields.
How many trees does he have altogether?

8x5=40
20. A packet of biscuits contains 40 biscuits. They are shared

equally among 10 children. How many biscuits does each child
get?

40:-10=4
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1.

Times Tables Test 38

Oral questions

2x5=10

Calculate:

d.
6.
7.
8.
9.
10.

1x10=10
5x5=25
9x10=90
7x2=14
5x10=50
8 x5=40

2.

1x2=2 3. 12:2=6 4.

11. 70 10=7
12. 0:2=0
13. 8:2=4
14, 45:5=9

15.
16.

Complete these calculations

17.

4x5=20

120+ 10=12
15:5=3

18. 30+10=3

110+ 10=11

19. 5 people buy tickets for a theme park. Each ticket costs the
same and the total is £50. What is the cost of each ticket?

£50+5=£10

20. A music shop buys 10 packs of CDs. Each pack contains 6 CDs.
How many CDs does the shop buy altogether?

. 6x10=60
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Times Tables Test 39

Oral questions
1. 3x2=6 2. 6x2=12 3. 60:10=6 4. 10:2=5

Calculate:

5. 4x5=20 11. 30+10=3
6. 2x10=20 12. 15:5=3

7. 7x5=35 13. 22+:2=711
8. 6x2=12 14. 20-5=4

9. 3x10=30 15. 90+ 10=9
10. 0x2=0 16. 10+5=2

Complete these calculations

17. 3x5=15 18. 16+2=8

19. There are 4 shelves with 5 laptops on each one. How many
laptops are there altogether?

4x5=20

20. A teacher lays out 40 P.E. hoops in rows of 10. How many rows
are there?
40:10=4
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Times Tables Test 40

Oral questions

1. 3x5=15 2. 0x10=0 3. 16:2=8 4 20:10=2

Calculate:

5. 4x5=20 11. 30+10=3
6. 0x2=0 12. 35:5=7
7. 8x10=80 13. 8:2=4

8. 8x2=16 14. 16+2=8

9. 4x10=40 15. 120+ 10=12
10. 6x5=30 16. 10+5=2

Complete these calculations

17. 7x2=14 18. 35+5=7

19. 35 metres of rope is cut into 5 equal pieces? How many long is
each piece?

35m =+ 5=7m

20. Each table in a classroom has 10 rulers in a pot. There are 8
tables. How many rulers are there altogether?
8x10=80
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Notes
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